
set 0 AREA:  Sharon  start=118270 tc = 5014 numrows = 10
numcols = 28 cyl_size 5014 comp = 2.800000e+002 (1,1)
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2/28:01al`ikz`pxd`kig`z`eeipaez`ezn2/28:01

2/30:06eziptldtzkxxy`lrpx`zcrdiptld2/30:06

2/33:10ppcnrgztd`dlnwelknrdeegzyde`2/33:10

2/36:10zrixzg`l`zg`ngeyzrixixagzg``2/36:10

2/39:09zxeagxletke`lnieea`xdraixeh`2/39:10

3/02:16dy`dediln`egafninlypaxwen`pn3/03:01

3/06:10ycniycw`edz`hgkny`kelkxkfaap3/06:11

3/09:09eilahieerav`ncapzielrzepxwnd3/09:09

3/13:06rb`ledytrbpdxeraexdhepdkdtqn3/13:06

3/14:38dziaayrzninieaydkdpneiadyria3/14:39
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